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1 ‘ AT 0. 402 0. 462 0. 552 0.684 1.530 0.270 0. 582 m? BXH2x1.0
L] a AFHEEIT - - - - - 0.121 - m3 | BxHz —n/axp) x1.0
o 2 8 s o
S ’:] REL S HETERET 0. 180 0. 240 0. 330 0. 462 1.197 0. 180 0. 240 m? BXH3x1.0
o s 48 = 3 x _ 2
e am pa| S g MiERET 0.121 0.121 0.121 0.121 0.187 0.121 0. 241 m® | @xHa—r/ax0) x1.0
- b BErMmET 0.222 0.222 0.222 0.222 0.333 0. 211 0. 342 m? E )
BUREHEDIP -DIP-6X EHRMIEBET 0.030 0.030 0.030 0. 030 0. 045 0. 030 0. 030 m® Asak
BAET 0. 600 0. 600 0. 600 0. 600 0. 900 0. 600 0. 600 m? RM-30 t=17cm
BT & A
S
127 SHEREET 0. 600 0. 600 0. 600 0. 600 0. 900 0. 600 0. 600 m? | BEHEHEAs t=3cm
REIR AETHEAs (13) BT - - - - 1.000 - - m [=2.0m R
5 JRCE T e
. BEMERE Q)
8 s RIS
N LS SO \\ o
[ R] ﬁ
N 8RR W st g
S e # o
e | =
) S
pag o T
-
BREBEP - DIP-6X




(mE @)

NO. 10
ABDIPEHE W & ABEE -9 | gy =
[ ! 2
1B ERFE A fFEAs fFiEAs
&R O’ DIP ¢ 100 DIP¢ 100
H 0.80 1.00 m + %Y
B 0. 60 0. 60 m iR Al 18
HI 0.92 1.12 m iR AR
H2 0.82 1.02 m AR A
H2' - - m A SiEHI
H3 - 0.20 m FETER
H4 0.42 0.42 m BOERE
D 0.12 0.12 m %
S SHEYMRT 2,000 2.000 m As t=<15cm
_ mE . SHEIRIET 0. 600 0. 600 m? As t=<10cm
- ol g9 3 WREEIT | 0492 | 0.612 [ sxnaxio
- = '; ZE+ ol AHiEE T - - m | @xnz —n/ax0h x1.0
L g:j, ; SETERT 0.000 0.120 m? BxH3x1.0
S - BERET 0. 241 0. 241 m? | @xHa—r/ax0) x1.0
BiaET 0.492 0.492 m’ 8
BRI T 0. 060 0. 060 m? Asik
tEBRET 0. 600 0. 600 m? RM-30 t=15cm
TRE®KET 0. 600 0. 600 m? RC-30 t=30cm
WEREIRT 0. 600 0. 600 m? | BEBHEAs t=5cn
+8T - - m | 1=2.0m XR1E




T ITEHEE (FE @) NO. 11

ABDIPEIRED o & SRS (-0EFSY) | gy W E
B m\ 3
ERRFER FFiEiAs
B O % | DIPeI0O
H 1.00 m + %Y
B 0.90 m 1 Hl e
H 1.48 m " Bl R
0 | BERGRET {RW-30) H2 138 m ARSI
K g H2 - - AniEH
=) 2 H3 0. 39 m RETIER
t H4 0.59 m BER
< % D 0.12 m ENE
S ‘ L 1.00 m ZE
2 wEL g WEOFT | 2000 m As t=15en
SERIUET | 0.900 m? As t=<10cm
S — o HAAEHI T 1.242 m® B x H2xL
— g ANEEIT - m? | BxH2 — 7 /4xD) xL
-8 FETERT | 0.283 m® | BXxH3xL—i2k
”””””” o - RHLEEa VY U—F MERT 0. 282 m’ Bx HixL e
. DIP-GXe 100 650B x 650H x 650L e 0 959 m +5
BHMET 0.090 m® AskE
LEBRET 0. 900 m? RM-30 t=15cm
TRERET 0. 900 m? RC-30 t=30cm
HEREIRT 0. 900 m? |BEEHIEAs t=5cm
BT - m [=2.0m R
RH LBhE&av)Y - MERiERR
#EL  |0.65%0.16%0.65= 0.068
BERME  [0.65%0.59%0. 65= 0. 249




(m @ ) NO. 9

B0

H1

AHDIPEIRES o & ABEE A-n2Y) | gy =
1 2 3
ERRFER BTiEAs BTEAs BTEAs
&0 & DIP 100 DIP 100 DIP ¢ 100
(3i-1~3 H 1.00 1.30 0.90 m T Y
B 0. 60 0. 60 0. 60 m i M 18
H1 1.12 1.42 1.02 m i MR
B H2 1.07 1.37 0.97 m HHARHI
) H2' - - - m A
i H3 0.70 1.00 0.60 m RAETER
= H4 0.22 0.22 0.22 m PR B
'Fii | D 0.12 0.12 0.12 m BHE
= B ogat o D’ - - - m RESR B ME
o m BEE L9 Y
v | SHEYIIR T 2.000 2.000 2.000 m As t=15cm
¥ SEIRMET | 0.600 0. 600 0. 600 m? As t=10cm
" DiPusX BRI T 0. 642 0.822 0.582 m® | @xHo—r/axpt 10
ABIEEIT - - - m® | BxH2Z —r/4xD) x1.0
BETEET | 0.420 0. 600 0. 360 md BxH3x1.0
MBERT 0.132 0.132 0.132 m? (Bx H4— 7t /4xD?) x1.0
BImET 0.222 0.222 0.222 m? +5
BRMET 0.030 0.030 0.030 md Asik
BT 0. 600 0. 600 0. 600 m? | RW-30 t=17cm
SEREAT | 0.600 0. 600 0. 600 m? |BamHEAs t=3om
+BT - - -




T ITEHEE (Wm @ ) #REF!
AERDIP, HI W & KEfRE (1.0m%Y) B W =
W & R i A 1 2 3
PR EtiAs EtiAs EtiAs
&0 & DIP 100 DIP$75 HIVP ¢ 50
H 0.60 0.60 0.60 m + %Y
B 0.60 0.60 0.60 m B #l iE
H1 0.72 0.69 0.76 m iR AR
o H2 0.67 0. 64 0.7 m R
o H2' - - - m A SiEHI
H3 0.30 0.30 0.30 m SR
= H4 0.22 0.19 0.26 m BOERE
=g D 0.12 0.09 0.06 m s E
HEYWT 2.000 2.000 2.000 m As t=15cm
HEREUET 0. 600 0. 600 0. 600 m? As t=10cm
DiP-ax AR T 0.402 0.384 0.426 m? BxH2x10
oo Al ANiEHIT - — - m® | BxH2 —x/4xD) x1.0
e FETERT 0.180 0.180 0.180 m? BxH3x1.0
;L,:l;_i MIERT 0.121 0.108 0.153 m® (Bx H4— 7 /4xD) x1.0
BiuET 0. 222 0. 204 0. 246 m® )
B g&hﬂﬂﬁ_iffﬁ@\s a3) BRMET 0.030 0.030 0.030 m? Asil
B 7 EERTRE RN-30) BT 0. 600 0. 600 0. 600 m? RM-30 t=17cm
, As 3 SEREET | 0.600 0. 600 0. 600 m’ | BEEHEAs t=3om
B VOTIZ o 1=2.0m F{R1EE
=
: o = ﬁ st 2
17
Hil m‘%‘*
j ek
8
"~ DIP-GX, HIVP




HEE (WE @ NO. 11

ABDIPEIRED o & SRS (-0EFSY) | gy W E
B m\ 1
ERRFER RithAs
As & fE O % | DIPG100
H 0. 60 m +# Y
B 0.70 m 12 Hl e
H1 0.90 m i 8l
5 H2 0.85 m BRI H|
H2' - m A SiEHI
= & H3 0.30 m FAETIER
K g H4 0.40 m BaR
el :‘;\ D 0.12 N EoE
o EET =4
8 =3 ; - L 1.00 m EE
h 1 : SEUMET | 2.000 m As t=15cm
; = 8 SEEIREUET | 0.700 m? As t=10cm
77777777777777777 g IR T 0.595 m® BxH2xL
ADEEIT - m® | BxH2 —x/4xD) xL
X4ELTIERT 0.142 m® B x H3xL
BWERT 0. 080 m? | BxH4-0.5x0.6) xL
BLET 0. 453 m® T8
BHMET 0.035 m® Ashk
tEBRET 0.700 m? RM-30 t=15cm
TRE®KET - m? RC-30 t=30cm
HEREIRT 0. 700 m? |BEEHIEAs t=5cm
BT - m [=2.0m R
RH LBhE&av)Y - MERiERR
#EL  |0.65%0.16%0.65= 0.068 (m3/m)
BEM  |0.50x0.40x1.0= 0.200 (m3/m)




(HE b ) NO. 7

20

10

T BT 58 W & ABmEE (1L OERTEY) | gy W o=
1
B ERRFER BTiEAs
& O & |VPe100x100
b-1 H 0.60 m + Y
B 1.00 m & &l g
H1 1.01 m i 8l
H2 0.45 m AR A
H2 0.51 m AFiEHI
o ) - H3 0.30 m HELER
E ‘\ ; H4 0.51 m PR
g _ - D 0.11 m EHME
- g+ 8 L 1.00 m I &
SN T 4.000 m As t=<15cm
= SHEERREET 1,000 m? As t=<10cm
'";' WHREEIT | 0.450 w | BxHIxL
ANiEEIT 0. 500 m® | BxH2 — 1 /4xD) xL
RAETIERT 0.150 m® B x H3 x L-#k&
BWERT 0. 360 m? Bx H4x -k
HAMET 0. 800 m? +5
BHMET 0.050 m® AskE
BT 1.000 m? RM-30 t=17cm
SHERERT 1.000 m? |EEEHEAs t=3cm
RH LBhE&av)Y - MERiERR

REL 0.50%0.30x1.00= 0.150

RhEHE 0.50%0.30x1.00= 0.150




